[ X Trigonometry XXXXXXXXXXXXXKXXXXXXXXXXXXKXXXXXXXXXXXKXKXXKXXXXKXKXKXXKXKXXKXKXXO00001XX
PracticeTrigonometry Answers for No.6310001

Ans =

a=24 b=32 c=40

ans.l = sin(oc)z%) ans.4 =|sin(f) = ] ans.7 = (o =36.87)

w W |

ans.2 = cos(oc)=§] ans.5 = cos(B):g] ans.8 =(p=53.13)

3 4
ans.3 =| tan(o) = Zj ans.6 =| tan(B) = gj "Trigonometry"

X Trigonometry XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKKKXKOO002XX
PracticeTrigonometry Answers for No.6310002

Ans =

a =60 b =63 c=287
1 ( i @j 4 ( i 2) 7 43.60
ans.l =|sin(a) = 29 ans.4 =|sin(f) = 29 ans.7 = (o =43.60)

21 20
ans.2 = cos(oc)=5 ans.5 = cos(B)=5 ans.8 = (P =46.40)

20 21
ans.3 = (tan( )= H} ans.6 = (tan( B)= %} "Trigonometry"

X Trigonometry XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXKXKXKXKXXKXKXKXKXKKXKKXKXKXKXO0003XX
PracticeTrigonometry Answers for No.6310003

Ans =

a=730 b=172 c=178
. 5 . 12
ans.l = (sm(oc) :Ej ans.4 = (sm(B) :Ej ans.7 =(a=22.62)
12 5
ans.2 = (cos(oc) = Ej ans.5 = (COS(B) = l_j ans.8 = (P =67.38)
5 12 .
ans.3 = (tan( )= Ej ans.6 = (tan( B)= ?j "Trigonometry"

X Trigonometry XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKKXKXKXKXKXKXKXKXKXKXKXKXKXKXKXKXXX00004XX
PracticeTrigonometry Answers for No.6310004

Ans =

a=33 b=56 c=065

: 33 _ 56
ans.l = (sm(oc) =gj ans.4 = (sm(B) =gj ans.7 = (o =30.51)

33

65j ans.8 = (B =59.49)

56
ans.2 = (cos((x) = gj ans.5 = (cos(B) =

33 56
ans.3 = (tan( )= gj ans.6 = (tan( B)= gj "Trigonometry"

X Trigonometry XXXXXXXXXXKXKXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXXKXKXXXKXKXKXKXKXKO00
PracticeTrigonometry Answers for No.6310005

Ans =

a=40 b=175 c=285

8 15
ans.l = sin(oc):l—7] ans.4 = sin(B)=1—7] ans.7 = (a=28.07)

15 8
ans.2 = cos(oc):E] ans.5 = COS(B)ZE] ans.8=(p=61.93)

8 15
ans.3 =| tan(o) = Ej ans.6 =| tan(B) = gj "Trigonometry"

05XX

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK



X Trigonometry XXXXXXXXXXXKXXXXXXKXXXXXKXXXXXXKXKXXKXXXKXKXXXXKXKXXXKXXXKXKXXKKXO0006XX
PracticeTrigonometry Answers for No.6310006

i a=24 bh=32 c =40

ans.l = sin(oc)z%) ans.4 =|sin(f) = ] ans.7 = (o =36.87)

w W |

Ans = ans.2 = cos(oc)=§] ans.5 = cos(B):g] ans.8 =(p=53.13)

3 4
ans.3 =| tan(o) = Zj ans.6 =| tan(B) = gj "Trigonometry"

X Trigonometry XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKXKOOOOT7XX
PracticeTrigonometry Answers for No.6310007

a=10 b=24 c=26
5
ans.l = (sin((x) :Ej ans.4 = (sin(B) =

j ans.7 = (o =22.62)

e R
W u>ho

Ans =

ans.2 = (cos(oc) = %) ans.5 = (COS(B) = Ej ans.8 = (P =67.38)

5 12
ans.3 = (tan( )= E} ans.6 = (tan( B)= ?} "Trigonometry"

X Trigonometry XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXKXKXKXKXXKXKXKXKXKXKXKKKXKXKXKXO0008XX
PracticeTrigonometry Answers for No.6310008

a=18 b=280 c=82
. 9 . 40
ans.l = s1n(oc):a ans.4 = sm(B):H ans.7 =(a=12.68)
Ans = 40 9
ans.2 = cos(oc):a ans.5 = cos(B):—1 ans.8 =(p=77.32)
9 40 .
ans.3 = (tan( )= EJ ans.6 = (tan( B)= gj "Trigonometry"

X Trigonometry XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKKXKXKXKXKXKXKXKXKXKXKXKXKXKXKXKXXX00009XX
PracticeTrigonometry Answers for No.6310009

a=24 b="70 c=74
1 ( i Ej 4 ( i 3—5j 7 18.92
ans.] =|sin(a) = 37 ans.4 =|sin(f) = 37 ans.7 =(o.=18.92)
Ans = 35 12

ans.2=|cos(a)="_-| ans.5=|cos(B)="Z| ans.8=(Pp=71.08)
37 37
12 35 .

ans.3 =| tan(a ) = g ans.6 =| tan(B) = E "Trigonometry"

X Trigonometry XXXXXXXXXXXKXXXXXXXXXXXXKXXXXXXKXXXXXKXKXKKXXXKXKXXXKXXXKXKXXKXKXO0010XX
PracticeTrigonometry Answers for No.6310010

a=18 b=24 c=30

ans.l = sin(oc)z%) ans.4 =|sin(f) = ] ans.7 = (o =36.87)

w W |

Ans = ans.2 = cos(oc)=§] ans.5 = cos(B):g] ans.8 =(p=53.13)

3 4
ans.3 =| tan(o) = Zj ans.6 =| tan(B) = gj "Trigonometry"

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKXKXKXXXKKKXXKXXKXKXXXKKKXKXXKK



X Trigonometry XXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXXXXXKXKXKKXXXKXKXKXXKKXXKXKXXKXKXO0011XX
PracticeTrigonometry Answers for No.8

a=39 b=280 c=89
1=]si —ﬁ) 4=|si —@) 7=(00=2599
ans.l =| sin(a) = 29 ans.4 =|sin(f) = 29 ans.7 =(a=25.99)
Ans = 80 39

ans.2=|cos(a)="_| ans.5=|cos(B)="2| ans.8=(P=064.01)
89 89
39 80 .

ans.3 =| tan(o) = % ans.6 =| tan(B) = 5 "Trigonometry"
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